

Telephone: Showgrounds: 96 22 1540

Secretary: 0421259391 Fax: 96 22 1540 P.O. Box 226, NORTHAM, 6401 Email: noragsoc@iinet.net.au

ABN 44 613 671 251

# NORTHAM AGRICULTURAL SOCIETY ANNUAL SHOW EQUESTRIAN EVENTS AFFILLIATED WITH RAS SATURDAY 13th September 2025

ENTRY TO OVAL IS AT NORTHY ST – GATE- OFF EAST STREET -OPEN 7am

Show Jumping----- Breed Halter- Horse and Pony Hacking and Rider Events

**OFF the TRACK- Horses** 

------ALL EVENTS FOR THIS YEAR ARE ON JUBILEE OVAL Parking ONLY as directed by Stewards edge off Henry Street Oval

**Closing Date** 

FOR ALL ENTRIES- Friday 5th September 2025
NO HAY PERMITTED ON GROUNDS







#### NO HAY PERMITTED ON GROUND

**ENTRIES CLOSE Friday 5 th September 2025** 

#### **CONDITIONS OF ENTRY**

#### NO HAY PERMITTED ON SHOWGROUNDS

PLEASE READ THE FOLLOWING BEFORE SUBMITTING YOUR ENTRIES.

REGULATIONS & BY-LAWS. Regulations and by-Laws for the governing of the Annual Show, which are subject to any alteration that the Committee may deem advisable, may be inspected prior to the first day of the show at the Secretary's office on the grounds. These Regulations & By-Laws are to govern the fixture, together with the uniform by-Laws of the Royal Agricultural Society Act, 1926.

SOCIETY'S LIABILITIES. The Society will <u>not</u> be responsible for any accident that may be caused through or by any exhibitor, and it shall be a condition of entry that each exhibitor shall hold the Society blameless and indemnified against any legal proceedings arising from any such accident.

PROTESTS: Must be lodged within one hour after the event with a deposit of \$50.00 to the Chief Steward which shall be forfeited to the Society if the protest on due consideration be deemed unfounded or frivolous.

DANGEROUS & DISEASED EXHIBITS. Should the council have any reason to suspect that any exhibit is dangerous or objectionable, it may have same removed from or refused admission to the grounds The Committee reserves the right to refuse or accept conditionally any entry without assigning any reasons.

PROGRAMME. The Committee reserves the right to alter or amend this program in any way it sees fit without giving prior warning. Classes may be combined or split at the Committee's or Judges discretion. All rings will be running concurrently so competitors are advised to bear this in mind when submitting entries.

REFUNDS. Non-participation in an event will NOT warrant a refund of entry moneys- Entry moneys will only be refunded minus a \$5.00 administration fee if the request is accompanied by a Vet's Certificate or a Doctor's Certificate dated within 14 days prior to the show.

- JUDGES. THE JUDGES DECISION IS FINAL IN ALL CASES. <u>Judges are NOT to be approached under any circumstances by any competitor or spectator</u>. Classes will NOT be held up for late arrivals except at the discretion of the judge.
- \* ENTRIES: All exhibits MUST BE ENTERED under the registered E.W.A./HC name and in the name of the registered owner/leasee. A copy of HEIGHT REGISTRATION CERTIFICATE PAPERS must accompany ALL entries.

#### GROUND ENTRY:

SATURDAY- (Complete Agricultural Show). One FREE entry per horse GROUND FEE of \$5. 00 PER HORSE to be paid on entry form Only vehicles conveying exhibits admitted to grounds. Grounds open 7.00am

Entry Forms must be received by the Secretary at PO Box 99 York 6302 by 5th SEPTEMBER 2025-Email Entries to: <a href="mailto:msbritza@bigpond.com">msbritza@bigpond.com</a> (Performance)

Breed Entries to: bweir@westnet.com.au Phone: 0447839619

PLEASE INCLUDE BANK REFERENCES IF EMAILING

Northam Show Equestrian Co-ordinator- Sue Britza

Mobile: 0429461392 Email: msbritza@bigpond.com

Breed Ring Co-ordinator – Emily Sheridan emily@powderbarkstud.com.au 0402848253

#### NORTHAM AGRICULTURAL SOCIETY ANNUAL SHOW

**SATURDAY 13th September 2025** 

#### HACKING AND RIDER EVENTS

Entry Fee \$40.00 per horse

Ground Fee: \$5.00 per horse

Entries Close 5pm, 5th September 2025

ARMBANDS for RIDER and HACK EVENTS: \$10.00 refundable (Please have cash)

8.30am Start

# THIS EVENT IS HELD ON THE JUBILEE OVAL

# Walk horse to Jubilee Oval—From parking area Henry Street Oval

8.30am START

ENTRY FEE--- \$40 per Horse

Led, Novice and RDA classes are \$5 per class

NO HAY ALLOWED ON GROUNDS----PARKING IN AREA NEXT TO HENRY OVAL----AS DIRECTED BY STEWARDS –

Horses walked to Jubilee Oval for classes

DISCLAIMER FORMS MUST BE COMPLETED AND DULY SIGNED
ALL NOMINATIONS MUST BE ACCOMPANIED BY COMPLETED FORMS AND
FEES

NO HAY PERMITTED ON GROUND

# **Entry Fees \$40 per Horse**

Led, Novice and RDA classes are \$5 per class

Ground Fee: \$5 per horse ARM BANDS-\$10 refundable (Cash)

## **HACKING AND RIDER EVENTS---8.30am Start**

Class	Event	1 <sup>st</sup>	2 <sup>nd</sup>	3 <sup>rd</sup>
1	Leading rein Rider—(Not eligible for any other rider events)	\$10	\$5.00	\$2.00
2	Lead rein – Pony Hack – 14hh and under (Not eligible for any other Hack)	\$10	\$5.00	\$2.00
3	Novice Rider 9 Years and under-(walk & trot only)	\$10	\$5.00	\$2.00
4	Novice Rider 10-17 Years-(walk & trot only)	\$10	\$5.00	\$2.00
5	RDA Rider	\$10	\$5.00	\$2.00
6	RDA Horse	\$10	\$5.00	\$2.00
7	Local Rider – (To reside in the Shire of Northam) 17 yrs and under	\$10	\$5.00	\$2.00
8	Rider 12 years and under	\$10	\$5.00	\$2.00
9	Rider 13 - 17 years	\$10	\$5.00	\$2.00
	Champion Junior Rider (Events 8 and 9)			
	Reserve Champion Junior Rider (Events 8 & 9)			
10	Pony Hack 12.2h and under	\$10	\$5.00	\$2.00
11	Pony Hack over 12.2h up to 14h	\$10	\$5.00	\$2.00
12	Lightweight Pony Hack 14h and under	\$10	\$5.00	\$2.00
13	Medium/Heavyweight Pony Hack 14h and under	\$10	\$5.00	\$2.00
	Champion Pony (Events 10,11,12,13)			
	Reserve Champion Pony (Events 10,11,12,13)			
14	Show Hunter Pony 14hh and under	\$10	\$5.00	\$2.00
15	Rider 18 years and over-walk and trot	\$10	\$5.00	\$2.00
16	Rider 18 years and under 30 years	\$10	\$5.00	\$2.00
17	Rider over 30 years	\$10	\$5.00	\$2.00
	Champion Senior Rider (Winners event 15 & 16)			
	Reserve Champion Senior Rider (Events 15 & 16)			
18	Galloway over 14h up to and inc 15h	\$10	\$5.00	\$2.00
19	Lightweight Galloway over 14h – 15h	\$10	\$5.00	\$2.00
20	Heavyweight Galloway over 14h - 15h	\$10	\$5.00	\$2.00
	Champion Galloway Events 17,18,19)			
	Reserve Champion Galloway—Events 17,18,19)			
21	Hack over 15h -16h	\$10	\$5.00	\$2.00
22	Hack over 16h	\$10	\$5.00	\$2.00
23	Lightweight Hack over 15h	\$10	\$5.00	\$2.00
24	Heavyweight over 15hh	\$10	\$5.00	\$2.00
	Champion Hack—Events 20, 21,22,23			
	Reserve Champion HackEvents 20, 21,22,23	212		
25	Show Hunter Hack	\$10	\$5.00	\$2.00
26	Pleasure Hack	\$10	\$5.00	\$2.00
27	Off the Track Thoroughbred—up to 15.2hh	\$10	\$5.00	\$2.00
28	Off the Track Thoroughbred—over 15.2hh	\$10	\$5.00	\$2.00
29	Off the Track Standardbred	\$10	\$5.00	\$2.00

# THIS EVENT IS HELD ON THE JUBILEE OVAL NEAR TO THE AMUSEMENT SECTION

#### **SHOWJUMPING**

#### Maximum of 3 classes per horse per day

All rings will be running concurrently so competitors are advised to bear this in mind when submitting entries.

#### Start Time 8.30am

No	Entry	Class Type	1 <sup>st</sup>	2 <sup>nd</sup>	3 <sup>rd</sup>	4 <sup>th</sup>	5th	
	Fee							
J1	\$10	45cm— AM7 (Art.245.3-238.2.2)	\$20	\$15	\$10	\$5	\$5	
J2	\$10	60cm Hit & Hurry( Art 267)	\$25	\$20	\$15	\$10	\$5	
J3	\$10	70cm Table C (Art 239)One round only	\$25	\$20	\$15	\$10	\$5	
J4	\$10	80cm AM7 (Art.245.3-238.2.2)	\$30	\$20	\$15	\$10	\$5	
J5	\$10	90cm A2 (Art 238.2.1) One round only	\$30	\$20	\$15	\$10	\$5	
J6	\$15	1m Hit and Hurry Art 267	\$50	\$40	\$30	\$20	\$10	
J7	\$15	1.10m AM7 (Art 245.3.238.2.2)		\$70	\$50	\$30	\$20	
Ј8	\$20	1.15m AM7 (Art.245.3-238.2.2)		\$80	\$60	\$40	\$30	
J9	\$25	1.20m AM7 (Art 245.3-238.2.2)	\$120	\$90	\$70	\$50	\$40	
SIX BARSpecial Event at conclusion of event J9								
J10	\$15	Six Bar- Ponies-Art262.3	\$50	\$30	\$20	\$10	\$5	
J11	\$15	Six Bar- Horses-Art 262.3	\$80	\$60	\$40	\$30	\$20	

NO HAY ALLOWED ON GROUNDS----PARKING IN HENRY STREET OVAL----AS DIRECTED BY STEWARDS-Horses walked to Jubilee Oval for classes

#### DISCLAIMER FORMS MUST BE COMPLETED AND DULY SIGNED

# NO HAY PERMITTED ON GROUND

Off The Track awards for showjumping and all appropriate classes in Hacking and Breed

#### NORTHAM AGRICULTURAL SOCIETY SHOW

# For all inquiries contact: Sue Britza 0429461392- Email: msbritza@bigpond.com

	Hacking & S	Show Jumping En NO HAY ALLO	try Form -Pl	LEASE PRINT (	CLEARLY		
NAME OF	EXHIBITOR	NO HAY ALLC					
Email:							
	CLOSE. 5th Se	eptember 2025					
"OFF TH	E TRACK"- (OT	Γ) Please provide Pa					
Please No	C	ates may be require oort number-For OT		ge and or Organ	izers		
	G AND RIDER E	VENTS					
CLASS	OFF THE TRACK RIDER	RS NAME HOR	SES NAME		HEIGHT	ENTRY FEE	
					TOTAL HACKING FEES		
SHOWJU	OFF THE TRACK	sport number-For C	OTT	RIDERS NAME		ENTRY FEE	
			E	A SHOWJUMPIN			
					LASS MAX \$24		
INCLUDE	DANIZ DEFEDEN	NCE WITH ENTRY	10	OTAL SHOWJU	MPING FEES	<u> </u>	
	GROUND FEE \$5.00 p	er HORSE		dicate membershi strian WA	ip: PCWA		
HACKING FEES SHOW JUMPING FEES				<ol> <li>Northam Agricultural Society - Full Member or</li> <li>Personal Insurance</li> </ol>			
Showjump	ing only LEVIES @\$4/clas DAY MEMBERSHIP (I						
/D/4				"OFF TH	IE TRACK"		
Т(	OTAL ENTRY	FEES		nana aut NT 1			
All Banking Details as follows:			OTTPa	ssport Number _			
<b>BSB:</b> 06		Number: 10199730		orms Completed		9, York, 6302	
-	to: Northam Agric tries to: msbritza(	•		55h September 2 Entries: msbritza		n	

**Equestrian** 

**Include Bank Reference TO: Northam Agricultural** Society 066524-10199730-Enter "Your Name" +

ALL BANKING ENTRIES MUST HAVE REFERENCE OF "Your Name" + Equestrian

Include your Bank Reference if emailed

#### DISCLAIMER FORM MUST BE COMPLETED by ALL ENTERANCE OF HACKING AND BREED and SHOWJUMPING

NameAddress
Phone
I,
By signing hereunder 1 confirm I have read and under -stood the contents of this Disclaimer together with the Rules & Regulations by which I agree to abide.
Name:(Print) Signature:
Dated this: day of 2025
I understand that my signature to this document constitutes a complete and unconditional release of all liability the Equestrian Australia Ltd including all its state bodies, coaches and affiliated clubs, to the greatest extent allowed by law in the event of me and/o the children under my care, suffering injury or death.
PARTICIPANTS 17 YEARS OF AGE and UNDER.  Before signing this disclaimer, please read Rules & Regulations in the schedule.  PARENT /GUARDIAN CONSENT for EXHIBITORS, RIDERS, DRIVERS, PASSENGERS, ATTENDANTS and ANY OTHER  PARTICIPANTS 17 YEARS OF AGE and UNDER.  I,
SignedDate2025

INSURANCE: For Insurance purposes ALL competitors/Riders competing at this show/event MUST be covered for personal liability Insurance either as members of Equestrian WA, PCWA, OR personal indemnity Insurance.—See Entry Form

All Banking Details as follows: Northam Agricultural Society

**BSB:** 066524 Account Number: 10199730

ALL BANKING ENTRIES MUST HAVE REFERENCE OF "YourName" + Equestrian

## **BREED SECTION**

## THIS EVENT IS HELD ON THE JUBILEE OVAL

#### NEAR TO THE AMUSEMENT SECTION—ROAD AREA

# (BREED CLASSES TO COMMENCE AFTER THE COMPLETION N OF THE SHOW HORSE CLASSES - APPROXIMATELY 12.00 pm)

### **ENTRIES CLOSE 5<sup>TH</sup> September 2025**

**ENQUIRIES: Bronwyn Weir** 

bweir@westnet.com.au Phone: 0447839619

#### **DISCLAIMER FORMS MUST BE COMPLETED AND SIGNED**

#### ALL CLASSES- <u>\$10</u> Plus GROUND FEE (\$5)

Rules and Regulations -

- 1. No children under 18 years can show or handle a colt or stallion
- 2. Current registration and membership MUST be provided with entries.
- 3. Handlers must be correctly attired to the breed societies standards

#### ENTRIES CLOSE Friday 6th September 2024

#### **RING 1 PONY**

Class BP1:- Enter as such on entry form Opening Class: Di Norman memorial BEST PRESENTED EXHIBIT PONY 14HH AND UNDER To be judged by <u>both</u> ring Judges Prior to class 1 commencing

#### **OPEN PONY 14HH & UNDER**

- 1. GELDING ANY AGE
- 2. STALLION OR COLT ANY AGE

#### **CHAMPION & RESERVE CHAMPION**

- 3. MARE 4YRS & OVER
- 4. FILLY 3YRS & UNDER

CHAMPION & RESERVE CHAMPION

#### WELSH A & B

- 5. STALLION OR COLT ANY AGE
- 6. MARE OR FILLY ANY AGE
- 7. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

#### WELSH C & D

- 8. STALLION/COLT ANY AGE
- 9. MARE/FILLY ANY AGE
- 10. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

#### **PART WELSH**

- 11. STALLION/COLTANY AGE
- 12.. MARE/FILLY ANY AGE
- 13. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

#### **MINIATURE**

- 14. STALLION/COLT ANY AGE
- 15. MARE/FILLY ANY AGE
- 16. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

# APSB-PUREBRED ( Not already on program)

- 17. STALLION/COLT ANY AGE
- 18. MARE/FILLY ANY AGE
- 19. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

#### ANY OTHER REGISTERED PONY

- 20. STALLION/COLT ANY AGE
- 21. MARE/FILLY ANY AGE
- 22. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

Horses walked to Jubilee Oval for classes

# <u>BREED SECTION</u>

### THIS EVENT IS HELD ON THE JUBILEE OVAL

#### RING 2 HORSES ENTRIES CLOSE 5th September 2025

Opening Class: BPH—Enter as such on entry form
Di Norman memorial BEST PRESENTED EXHIBIT HORSE OVER 14HH
To be judged by both ring Judges prior to class 23 commencing

#### **OPEN HORSE OVER 14HH**

- 23. STALLION/COLT ANY AGE
- 24. GELDING ANY AGE CHAMPION & RESERVE CHAMPION
- 25. MARE 4 YRS & OVER
- 26. FILLY 3 YRS & UNDER

CHAMPION & RESERVE CHAMPION

#### **PINTO**

- 27. STALLION/COLT ANY AGE
- 28. MARE/FILLY ANY AGE
- 29. GELDING ANY AGE

**CHAMPION & RESERVE CHAMPION** 

#### ARABIAN PURE BRED

- 30. STALLION/COLT ANY AGE
- 31. MARE/FILLY ANY AGE
- 32. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

#### ARABIAN DERIVATIVE

- 33. STALLION/COLT ANY AGE
- 34. MARE/FILLY ANY AGE
- 35. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

#### **WALER** (Sponsored by Tapulani Walers)

- 36. STALLION/COLT ANY AGE
- 37. MARE/ FILLY
- 38. GELDING-ANY AGE

CHAMPION & RESERVE CHAMPION

#### **THOROUGHBRED**

39. STALLION/COLT ANY AGE 40. MARE/FILLY ANY AGE 41.GELDING ANY AGE CHAMPION & RESERVE CHAMPION

#### **STANDARDBRED**

42. STALLION/COLT ANY AGE 43.MARE/FILLY ANY AGE 44.GELDING ANY AGE CHAMPION & RESERVE CHAMPION

#### AUSTRALIAN STOCK HORSE

- 45. STALLION/COLT ANY AGE
- 46. MARE/FILLY ANY AGE
- 47. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

#### ANY OTHER REGISTERED HORSE

- 48. STALLION/COLT ANY AGE
- 49. MARE/FILLY ANY AGE
- 50. GLEDING ANY AGE

CHAMPION & RESERVE CHAMPION

#### ANY UNREGISTERED HORSE/PONY BREED

- 51. STALLION/COLT ANY AGE
- 52. MARE/FILLY ANY AGE
- 53. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

#### SUPREME IN HAND PONY

# <u>DISCLAIMER FORMS MUST BE COMPLETED AND DULY SIGNED</u>

# **BREED Entry Form** -PLEASE PRINT CLEARLY

N.	AME OF	EXHIBITOR	1TEL NO		
E	mail:				
A	DDRESS		P/C		
		ENTRIES CLOSI	E. 5TH September 2025		
N	O FEES ~	NO ENTRY!			
		tries to have photocopy of ALL registi			
C	LASS	NAME OF HORSE	RIDER EXHIBITOR	REG NO,	FEE
			C 15 05 00		
			Ground Fee \$5.00 per horse		
			TOTAL ENTRY FEES —		
	]	Entry forms must be sent to:  bweir@westnet.com.au Phone: 0447839619	Off the Track Pas	ssport Number	
		by the 5th September 2025.			
A	All Bankir	ng Details as follows: Northam Agi	ricultural Society BSB:066524 Ac	count Number:	
	0199730	o: Northam Agricultural Society			
	-	KING ENTRIES MUST HAVE R	EFERENCE OF <u>"YourName" -</u>	+ Equestrian	
CO	ONDITION C	OF ENTRY			
1 So	agree to co		Regulations as printed in this schedule	for the Northam A	
Si	gnature		Date	2025	
(Ij	funder 18y	ers must be signed by Parent / Guardian)			